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Radiação de dipolo
<latexit sha1_base64="LMZZowwfsjrnSbsKmcKCibI50BA="></latexit>

q(t) = q0 cos(!t)
<latexit sha1_base64="+eFkiA/WPSnfKAR89FCOxf+t8Ps="></latexit>
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r
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!4 cos2 !(t� r
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Radiação de dipolo
<latexit sha1_base64="LMZZowwfsjrnSbsKmcKCibI50BA="></latexit>

q(t) = q0 cos(!t)
<latexit sha1_base64="+eFkiA/WPSnfKAR89FCOxf+t8Ps="></latexit>

r � � � d

<latexit sha1_base64="Wq4eeekghv0kyykVBlhFrrRcsuY="></latexit>

~E(~r, t) = �µ0p0!
2

4⇡

sin ✓

r
cos!(t� r

c
)✓̂

<latexit sha1_base64="e42jbhPx0WPu/10eHrYsTjwwRqo="></latexit>

~B(~r, t) = �µ0p0!
2

4⇡c

sin ✓

r
cos!(t� r

c
)'̂

<latexit sha1_base64="Hu45PRUEb1G92BF02oAEc09rya4="></latexit>

~S(~r, t) =
µ0

c

⇣ p0
4⇡

⌘2 sin2 ✓

r2
!4 cos2 !(t� r

c
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Pratique o que aprendeu       
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z
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<latexit sha1_base64="VgpHcuWkOqCOjW88GcGZXkyX0H4="></latexit>

~S(~r, t) =
µ0

c

⇣ p0
4⇡

⌘2 sin2 ✓

r2
!4 cos2 !(t� r

c
)r̂

⟨P⟩ = ?



Pratique o que aprendeu       

x

y

z

+�

R

<latexit sha1_base64="VgpHcuWkOqCOjW88GcGZXkyX0H4="></latexit>

~S(~r, t) =
µ0

c

⇣ p0
4⇡

⌘2 sin2 ✓

r2
!4 cos2 !(t� r

c
)r̂

⟨P⟩ = ?

⟨P⟩ = RradI2 ⇒ Rrad = ?


